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R AER D AR R R R E

BA3—2 BEYIERTIHIEREINDSEHEICEAISHEIE (1/1) _ _ REEE | ERI9FEE
SERtONE | EMES | 140A1001-1 [Eliea | FiE—13-1 | FifEth | EETAERE 9 I
, RIERD Tim T 5L 2 ERA
1;5.; TREOBBOEILHNORES TREQHBEEILADKRES TREOBBOEILADKRES TREQHBEEILADKRES
&S X 4 B | TS DER nwxﬁ-;-& & 4 TWMASDKE| H& wafgé R 4 B | LIEHSOLS jja)xéfé X 4 rtimhooks | B ﬁa)jcéjé
(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mi%#8 2% 1.00/0.00 ~ 2.38 137.22|3mz#B 2% -~ - - —| 100kN/mM%E#B 2% 1.00| 11.57 ~ 32.04 137.22| 3mZ#BA5 -~ - - -
Zzhlst 1.00] 2.38 ~ 10.17 100.00] Z=hLlst |0.00 ~ 10.17| 2.88 14.55 zhLst 1.00] 5.00 ~ 11.57 100.00] #hrist | 5.00 ~ 32.04| 2.88 14.55
2 100kN/mM%E#8 % % 1.00{0.00 ~ 3.02 148.06| 3m%=#E 25| 0.00 ~ 0.12] 3.06 15.47| 100kN/m%#B 25 1.00| 10.63 ~ 30.00 148.06| 3m#i8Z 45| 30.00 ~ 30.00| 3.06 15.47
ZThilst 1.00] 3.02 ~ 10.81 100.00] Zhiist |0.12 ~ 10.81] 3.00 15.16 ThLst 1.00] 5.00 ~ 10.63 100.00] Zhrist | 5.00 ~ 30.00| 3.00 15.16
3 100kN/m%##B %% 1.00{0.00 ~ 3.20 151.15|3m#%#E 25| 0.00 ~ 1.08] 3.49 17.63| 100kN/m%#B% % 1.00| 10.78 ~ 42.82 151.15| 3m%#t82 5| 30.00 ~ 42.82| 3.49 17.63
Fh st 1.00] 3.20 ~ 10.98 100.00] Z=hLlst | 1.08 ~ 10.98] 3.00 15.16 Fh st 1.00] 5.00 ~ 10.78 100.00] #h it | 5.00 ~ 30.00f 3.00 15.16
4 100kN/mM%#8 % % 1.00/0.00 ~ 2.88 145.60| 3m##E25|0.00 ~ 093] 3.40 17.21]| 100kN/m%E# % % 1.00] 11.12 ~ 42.21 145.60| 3m%#BZ 5| 40.00 ~ 42.21| 3.40 17.21
zhilst 1.00] 2.88 ~ 10.66 100.00] Z=hilst |0.93 ~ 10.66] 3.00 15.16 zhLst 1.00] 5.00 ~ 11.12 100.00] Zhuist | 5.00 ~ 40.00| 3.00 15.16
5 100kN/mM%E#8Z% % 1.00{0.00 ~ 2.81 144.49|3m%EH#BZ D -~ - - —| 100kN/m%i#8 2% 1.00| 11.06 ~ 35.72 144.49|3mZEBZ 5 -~ - - -
zhst 1.00] 2.81 ~ 10.60 100.00] Zhilst |0.00 ~ 10.60] 2.95 14.90 zhst 1.00] 5.00 ~ 11.06 100.00] Zhuist | 5.00 ~ 3572| 2.95 14.90]
6 100kN/m##B % % 1.00{0.00 ~ 3.35 153.80| 3m#*#E%5|0.00 ~ 2.01]| 3.87 19.58| 100kN/m%#B% % 1.00| 10.72 ~ 51.99 153.80| 3m##Z 5| 30.00 ~ 51.99| 3.87 19.58
ZhLlst 1.00[3.35 ~ 11.14 100.00| #hist |2.01 ~ 11.14] 3.00 15.16 Fhn st 1.00] 5.00 ~ 10.72 100.00] #nd4t | 500 ~ 30.00f 3.00 15.16
7 100kN/mM%#BZ % 1.00/0.00 ~ 3.13 149.90[ 3m%# 25| 0.00 ~ 1.02| 3.45 17.45| 100kN/m%E#B % % 1.00| 10.90 ~ 48.02 149.90| 3m##x 5| 40.00 ~ 48.02| 3.45 17.45
zhlst 1.00] 3.13 ~ 10.91 100.00] Z=hilst | 1.02 ~ 10.91| 3.00 15.16 Thst 1.00] 5.00 ~ 10.90 100.00] #hlist | 5.00 ~ 40.00f 3.00 15.16
100kN/m%#8 % % ~ ImEEZ D ~ 100kN/m##8 % % ~ 3ImEHBR D ~
Zzhlst ~ Zzhs ~ zhst ~ Zhilst ~
100kN/mM%#BZ % ~ ImEEZD ~ 100kN/mM##BZ 5 ~ ImERBAD ~
zh s ~ Zhst ~ zh s ~ Zzh st ~
100kN/mM%#B % % ~ ImERERD ~ 100kN/M%E#BZ % ~ ImEBZD ~
Zzhs ~ Zhus ~ zhus ~ Zhst ~
100kN/mi%##8 2% ~ ImxHEz5 ~ 100kN/m##82.% ~ 3ImEBZD ~
zhlst ~ ZhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEEZ D ~ 100kN/ M#%#8 % % ~ ImEHBZD ~
Zh s ~ Zhst ~ zh st ~ Zh st ~
100kN/ Mm% 2% ~ ImEHE2 5 ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ zh s ~ Zzh st ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLs ~ Zh st ~
100kN/m%##82.% ~ ImEEZ D ~ 100kN/ Mm% % % ~ ImEHBRD ~
zhilst ~ Zhs ~ ThLst ~ Thils ~
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